九十四學年度第一學期 線性代數 期中考 (§2.4 ~ §3.4)  (需列計算過程，不可使用計算機及計算紙)

學號：                    姓名：                   

1. Let 
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(a). (15%) Determine the inverse of A, if it exists, using the method of 
   Gauss-Jordan elimination.
(b) (15%) Find the adjoint matrix of A.

2.(15%) Find the matrix A such that (2At)1 = 
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3.(10%) If 
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 and |A| = 2, compute the determinant 
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4.(10%) If A and B are 3(3 matrices and |A| = 1, |B| = 3, compute the determinant 
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5. (10%) Show that if A1 = At, then |A| = (1.
6. Let 
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(a) (13%) Find the determinant of A. 
(b) (2%) Is A invertible? (Y/N)             
 

7. (10%) Determine the values of  for which the following system of equations has nontrivial solutions.
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(背面尚有試題)
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